Chapter: Special Parts of the Triangle

Geometry Honors Date: //5/

- The Perpendicular Bisector

“ You must be able to write the equation (find) of the perpendicular bisector to a line segment.

Below is an example. Study it carefully and complete the problems.
Example: Find the perpendicular bisector of AB given the following coordinates:
A, 7) B(13,9)

Stepl: Find the midpoint of AB. (Why? Since the perpendicular bisector intersects the segment
at its midpoint, we have to know the midpoint.) Important! This is the point you must use in
step 3 when you are looking for thq y-intercept.
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Step 2: Find the slope of 4B . (Why? Since the perpendicular bisector is perpendicularto the

segment, we can find the slope of it by finding the slope of AB and using its negative reciprocal.
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Step 3: Find the y—mtercept Remember to use the midpoint from step 1 and the m; from step
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This is the perpendicular bisector \/= —46X+ 50
Find the perpendicular bisector for each line segment below. ST
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AB if A(-6, - 4) “and B(1,-4)
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